3 = =K =k
'I U.DEIHJ 2% Hl

[0

(B p SV/h)

e R = A SRER AN B Z AR
I E &E R A 7E BEBE
11/16|11/19[11/20{11/21]11/22|11/29{11/30] 12/3| 12/4 | 12/5| 12/6| 12/7
1 TS5y —LJEB(5- 6 FBERRI - 0.10 1 0.10 [ 0.09 | 0.09 |0.09 |0.11 |0.10 | 0.09 |0.11 |0.10 | 0.10 | 0.10
2 TSybiR—LEBAD) - 012 |0.12 |0.11 |0.11 [0.12 |0.14 |0.12 |0.12 | 0.13 |0.13 |0.12 | 0.12
3 TSybR—LAREDHA) — 0.12 1012 [0.12 [0.12 |0.12 |0.13 |0.12 |0.12 | 0.13 | 0.13 [0.13 | 0.13

5¢m | 0.07 |0.07 | 0.07 [ 0.07 |0.07 |0.08 [0.08 |0.07 [0.08 |[0.08 |0.10 | 0.10

4 BEAF R SR TR
Im 007 |0.07 [0.07 [007 |0.07 |0.07 [0.08 [0.06 [0.07 |0.08 |0.08 |0.06

5 FEER a1 SR A EE) — 0.05 [0.05 [0.04 |0.04 |0.05 | 005 |0.05 [0.04 [0.05 |0.05 |0.05 | 0.04
6 BEENFHE(SIFE LR — 0.04 [ 0.04 [0.04 |0.04 |0.04 | 005 |0.04 [0.04 |0.04 |0.05 |0.04 |0.05
7 YEENE AR5 A BE) - 0.02 [0.02 [0.02 |0.02 |0.02 |0.03 |0.03 [0.02 |0.03 |0.03 |0.03 |0.03

D 5cm (008 |0.08 |0.08 |0.07 |0.08 [0.08 |[0.08 |0.08 |0.08 |0.08 [0.08 |0.08
8 BEANF AR (2B 4R T3

Tm 0.07 | 0.07 |0.07 | 0.07 | 0.07 [0.08 |0.08 |0.07 |0.08 [0.08 |0.08 |0.07

9 BAFHEQBFAR) — 0.02 [0.02 [0.03 | 0.02 |0.02 [0.03 [0.03 | 0.02 |0.03 |0.03 [0.03 |0.03
10 | SBEEHEQEF ) —  |004 | 004 | 004 |0.04 |0.04 [0.04 [004 [004 005|004 004|005
11 BEENF A EQ SRR E) — 0.05 | 0.05 [0.05 | 0.06 | 0.05 [0.06 | 0.05 | 0.05 [0.06 |0.06 |0.06 |0.06
0| RAS—Rfl_ 5cm | 003 [0.03 [003 [002 [003 003 {003 |003 |0.03 [0.03 |0.03 [0.03
RRYVR— LIS im [0.03 [0.03 [003 003 [003 [003 [0.03 003|003 [003 [0.03 |0.03

o | RAS—8l 5em [ 0.03 [0.02 [0.03 [003 003|003 {003 |003 |003 |0.03 |0.03 [0.03
RV R—IL2EF) im 003 | 003 |0.03 [0.03 [0.03 [003 [003 [003 [003 |003 |003 |003

| ECABET AL 5cm [ 0.03 [0.04 (003 [0.04 [003 [004 [004 [003 |004 |0.04 |0.04 |0.04
(5% im | 004 | 003 |0.04 003 [003 [0.04 [003 [003 [004 |004 004|003

s | ECARETA—L 5em [ 0.03 [0.03 [0.03 [003 [002 [003 [003 |003 |0.03 |0.04 |0.03 [0.03
2541 im [003 [0.03 |0.02 [ 003 [003 |0.03 | 003|003 [003 |003 |003 |003

o aﬁx;:i;%pé;%;ﬂfﬁ_ 5em | 002 [0.02 [003 [002 [002 [002 {002 |003 |0.02 [0.03 |0.02 [0.03
R R— LS im 002 |002 |0.02 003 [0.03 [002 [002 [002 [003 |003 |003 |002

. E;;x;:ﬁ;‘%iﬁé;%fﬂfﬂ_ 5cm [ 0.02 [0.02 [002 [002 [002 [002 {003 |002 |0.03 [0.02 |0.02 [0.02
R R—ILQ2EF) im |002 | 003 |0.02 [0.03 [0.02 [003 [003 [002 [003 |003 |003 |003

8 EZR A O h— Il sem |01 [0.10 [0.10 [0.10 [0.10 [0.11 {011 [012 011 [0.11 [0.12 [0.12
(154 im o012 |o11 o1t o011 o011 012 [0.13 [0.13 [0.12 [0.13 [0.12 |0.13

9 ERAO T H—IL 5cm 009 |0.09 [0.09 [009 [0.10 [0.11 |0.11 [0.11 [0.11 [0.10 [0.10 |0.11
254F) im o011 |o11 o1t o011 012 012 [0.12 [013 [0.13 [012 [0.13 |0.13

’0 ORI 5cm [ 0.03 [0.03 [0.03 [003 [003 003|004 |003 |0.03 |0.03 |0.04 [0.03
BAVATHiE im |003 | 003 | 003 |0.03 [0.04 |0.04 [004 [004 [004 [004 |004 |0.04

N JE—— 5cm | 0.05 [0.05 [0.05 005 006|006 |007 |0.06 |0.06 |0.06 |0.06 [0.06

1m 0.05 | 0.05 [ 0.05 [0.05 | 0.05 [0.05 | 0.06 | 0.05 | 0.06 | 0.06 |0.05 [ 0.06

U ; . 5¢m | 0.05 | 0.06 | 0.06 | 0.06 | 0.06 | 0.06 [0.07 |0.06 |0.06 |0.06 |0.06 |[0.07
22 NERR G SEE i

Tm 0.08 | 0.07 |0.07 | 0.07 | 0.07 [0.08 |0.08 |0.07 |0.07 [0.07 |0.07 |0.08

. . 5¢cm | 0.06 [0.08 |007 007 [0.08 |0.08 |0.08 |0.07 [0.08 |0.09 |0.08 |0.08
23 P L AR

1m 0.09 10.09 [0.09 |0.09 |0.09 |0.10 |0.09 [0.09 |0.10 |0.10 | 0.10 | 0.10

. . 5¢cm |0.07 | 007 (007 |0.07 |007 |008 [007 |0.07 |0.08 |[0.08 |0.07 |0.08
24 a2 D

Tm 0.07 (0.08 |0.07 |0.08 | 0.08 [0.08 |0.09 |0.07 |[0.09 [0.08 |0.08 |0.09

ORI BEREIC DLV TIL, BIER RELGDEEMORIKENSREN TLSIHS . [ —JEREE.
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NI SERIGEAN B ZA®R

BB ITE B A
11/16(11/19[11/20|11/21[11/22|11/29|11/30| 12/3| 12/4 | 12/5| 12/6| 12/7

5¢m [ 0.05 [ 0.05 | 0.05 | 0.06 |0.05 [ 0.06 [0.06 |0.06 |0.06 |0.06 |0.06 |0.06

25 T4 MKEREQBER)
im |0.06 |0.06 |0.06 |0.07 |0.06 |006 |007 |0.06 007 [007 |0.07 |0.06

_ e 5cm [0.05 (0.04 (0.05 (0.05 [0.04 [0.05 [0.05 [0.05 [0.05 [0.05 [0.05 |0.05
26 | ISAMKIEMEQRSR)

1m 0.06 | 0.06 [ 0.05 [0.06 | 0.06 [0.06 |0.06 | 0.06 | 0.06 |0.07 |0.06 [0.06

ISARAVART 5¢cm |0.07 [0.08 |0.07 |0.07 [0.08 |0.09 |0.09 |0.09 [0.08 |0.08 |0.08 |0.09

21 5 O R (12 4F)
7 Tl im 010 [0.09 [0.09 |009 |009 [0.10 |0.11 |0.11 |0.10 |0.10 | 0.10 | 0.10
ISARAURT 5¢cm | 0.07 |[0.07 |007 |0.07 [0.07 |0.08 |0.08 |0.07 [0.08 |0.08 |0.08 |0.08

28 &5 055 24F)
7 RRIACE) Im 009 [0.09 [0.09 |009 |009 009 |0.10 |0.10 |0.10 | 0.09 | 0.09 | 0.09
29 IRIEH IS O) — 0.10 | 0.10 [0.10 [0.10 | 0.10 | 0.10 |0.11 |0.09 |0.11 [0.11 [0.11 |0.10
30 [RFEH (P R) — 012 |0.10 {0.11 |0.11 |0.12 |0.13 |0.12 | 0.13 | 0.13 |0.13 | 0.12 | 0.11
31 [RIEHIE(AO) - 0.12 1012 [0.11 [0.12 |0.12 | 0.13 | 0.13 |0.13 | 0.14 | 0.13 [0.13 | 0.13
_ . 5¢cm 014 [0.13 |0.13 ]0.14 [0.13 |0.15 | 0.12 | 0.15 [0.15 | 0.15 | 0.15 [ 0.15

32 TSV NHEKETHE
im [012 [0.13 [0.13 10.13 /013 |0.14 [0.14 |0.14 [0.14 | 0.14 | 0.15 | 0.14
. N 5cm | 014 [0.14 014 | 0.13 |0.14 [0.15 | 0.15 | 0.15 | 0.15 | 0.15 | 0.15 | 0.14

33 AR HE KT

1m 0.13 10.13 [0.13 [ 0.14 | 0.13 [ 0.14 | 0.14 | 0.15 | 0.14 | 0.14 [ 0.15 [ 0.15

. N 5cm 0.13 1013 1012 |0.13 |0.12 |0.14 |0.14 | 0.14 | 0.14 |0.14 | 0.14 | 0.14
34 SEIEREKE BT HE

1m 0.12 {0.11 |0.12 | 0.11 | 0.12 [0.14 |0.13 | 0.13 | 0.14 [0.14 | 0.14 | 0.13

5¢m |0.11 {0.11 |0.12 | 0.11 | 0.11 [{0.13 |0.13 |0.12 | 0.12 [ 0.13 | 0.12 | 0.13

35 )y S

tm |o011 011|012 |0.12 |0.11 |0.12 [0.13 [0.13 [0.13 |0.13 |0.13 |0.13
36 REBB(CHE VL) — |0.07 |0.10 | 0.08 [0.08 |0.09 | 0.09 [0.09 |0.09 |0.09 [0.09 |0.09 |0.09
37 REBR(RIE LIS — 0.09 [0.08 [0.08 |0.10 |0.08 [0.09 [0.09 |0.10 |0.09 |0.09 [0.10 | 0.08
38 REBERUFE) — 0.08 |1 0.09 | 0.08 [0.08 |0.08 |0.09 [0.09 [0.10 |0.09 | 0.09 |0.10 | 0.09
39 | REBEB(OTSYMR—L) — |0.09 |0.08 | 007 [0.08 |0.08 |0.08 [0.09 |0.09 |0.08 [0.09 |0.09 |0.09

XRIERBECOVWTIE AIERREGIREMORIKFNOENTULDIHES . [—IERE.

= AHI SAERBEAN B Z A&
iz R
11/16{11/1911/20]11/21|11/22[11/29|11/30| 12/3| 12/4| 12/5| 12/6| 12/7
1 ® 0.10 | 0.09 [0.09 [0.10 |0.10 | 0.10 |0.10 |0.10 | 0.10 | 0.11 [0.10 | 0.10
2 [ii] 0.08 | 0.09 [0.09 [0.09 |0.09 |0.09 |0.09 | 009 |0.09 [0.10 |0.09 |0.10
3 5] 0.09 | 0.08 [0.09 [0.09 |0.09 |0.10 [0.10 |0.11 | 0.09 |[0.10 [0.10 | 0.10
4 it 0.09 [0.08 [0.09 |0.09 |0.08 [0.09 [0.09 |0.09 |0.09 |0.09 |[0.09 |0.09
e = AHI SAERBEAN B Z A&
I 5E & AR
11/16{11/1911/20]11/21|11/22[11/29|11/30| 12/3| 12/4| 12/5| 12/6| 12/7
1 BER -l -1 -=-1-=1-=-1-=1007] = | — o007 — | —

KBESIE, IXTHENSTMTT,
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(BfiL:p SV/h)

11829H 118308
BIE &R I 7E PR B 1517 28R 1517 28R
AR AR S ERIGERNIR At HIEHNF S ERIGERNIR

_ 5cm 0.08 0.08 0.08 0.08

BEENIFE AT I (TR )
1m 0.07 0.08 0.08 0.08
BERNYR (T (Z EE) — 0.05 0.03 0.05 0.03
BERNYR (L3R — 0.05 0.04 0.04 0.04
BEAR (T (R EE) — 0.03 0.06 0.03 0.05
RS f 5cm 0.03 0.03 0.03 0.03

&5 S h—
R A=) 1m 003 0.03 003 003
i 5cm 0.04 0.03 0.04 0.03
ELAEZBYUHR—IL
1m 0.04 0.03 0.03 0.03
1R o e £ H 5cm 0.02 0.02 0.02 0.03
& D
SRR R—)b 1m 0.02 0.03 0.02 003
5cm 0.11 0.11 0.11 0.11
EEAOTHR—IL

1m 0.12 0.12 0.13 0.12
5cm 0.06 0.05 0.06 0.05

TS54 MKFER R
1m 0.06 0.06 0.07 0.06
S5 4kaURT 5cm 0.09 0.08 0.09 0.08
IR RE 1m 0.10 0.09 0.11 0.10
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